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Mathematics Group-| , s
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Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given
which answer you consider correct, flll the carresponding circle A, B, C or D given in front of each question with marker or pen ink on the answer

sheet provided. R\pp’ - 9\3 :
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1.1 Symbol used for simitarity is . - el L 11
A e B) = € "~ 0 =
2 _A rectqngular region is the _____ of rectangle and 3w e Lok 2
its interior.
e Compliment o i .
(A) Intersection & 8) .. oS (C)  Union sz Difference J/
3 ::;fo .medlans of a friangle cut each other in the LT S fiibrles 3
(A) 4:1 B) 3:1 C 1:1
4. [\?_ N/OE] is called matrix. 1‘ ] 4
A Zero pe B Unit des
5. Thevalueof i®is — 5
® | - (D) "l
6. The logarithm of any number; 4 23 w‘:JHJr’ KILswsN 8
A 1 DY 10 ‘ |
7. gs(Va+ Vb Va—vb) 7
D) a?-p2
8. ’ - dFeml 3x*-x-2 8
€ (x-10@x-2 (O (x-1)(3x+2)
9. - :l'..——----(‘ybkf a® —b3 . a? - b? 9
a? + ab + b2 (D) a?-—ab+ b?
10. Incre10ed8x /i 10
(A) x=28{ <10 (C) x<10 D) x>10
11, K1, y+) teda(x,y) In(x-1,y+1)=(00) Si .11
A (1,) (-1,1) © .1 0 1,-1)
12.  Distance between points (0, 0)and (1, 1) is: i bl s (1,1) 11(0,00068 .12
A 0 B 1 @€ 2 D vz
13.  The symbol used for correspondence is: :4_[},4.,}4,&«'..-;»11‘4{’_&@%» A3
A - B o € = 0 =
14. Ina parallelogram opposite anglesare ____ . dn e L 14
®) unequal st B Equal 4. (©) Concurentsir  ©)  Non- concurrent L b
15.  The right bisectors of the sides of a triangle are : Y 2 S et Ll sdbs” A5
(A}  Congruent S (8) Equal Al .
(C)  Concurrent i (D) Parallel il K
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Mathematics (Science Grou .
(Subjective) : 2 (FOR ALL SESSIONS) (80 (/50 (f’ !,.J
Total Marks: 60 . (Group=D R P-(-213 - Time: 2 hrs: 10 min.
SECTION-! 2x18=36 il
o Write short answers of any six parts from the (2x6=12) S L L»;z:g:.&f Lt 5
" foilowing: _ I
(i) Define Non- Singular Matrix. LlwfESvntd ()
Vo e a+3 4 ]_[-3 4 . . g ;
iy Findaandbif: [ s 1] = [ . 2] Sy ptreddh . 4é (i)
(i)  Simplify and write in the form of a +ib (2-31)(3-120) P Sa+ib iy S (i)
(V) Simpify (%)% + 23 , /A W)
(v) Write in ordinary form: 9.018 x 10~ u.‘” ut(f}ru v)
(vi) Find value of x: Logg.s5 = %x et addx (Vi)
(vi) Reduce to lowest form: (x + D(xZ - 4) (vii)
(viiiy  Simplify: 43x5y10z15 (viii)
(ix) Factorize: 128 am? (ix)
3 Write short answers of any six parts fro 3
" following: ' &
(i) :iso(: :factorization to find s . fr Jod zdf k()
(i) Solve the equation: d S S e (i)
J’iédd’x F ) (i)
(i) Y, "l ’
(iv) LL//tlFJ y = mx+c f:.bl/(fd: (iv)
-’q{r;‘”dzd’c sl M
(v) x=-3 a x=24LbaS ()
(vi) \'q_:l / g;&lf‘ui Uigis (Vi)
(vil) A(2,-6)and B (3, -6) i B L 55 (v
(vii) What s mea e e -z O-2 (Vi)
(ix) Find the rem ‘of the o, e L i By
opposite an ; grarr} is 1120' ~?-21x16012/:(0‘! 153 LGS Iy‘flu_‘fr)" U"’JU! 8 (ix) )
4, Write short answ $'8ix parts from the = " . » ;
il P { ) Sz ‘{"’75'.4"-‘;’( =Lt
() Define bisector of an angle. Eafdans o ()
(i) 3cm, 4 cm and 5 cm are the sides of the triangle. ol ik o . (i)
) Can' tangle b formed? e sl o i Saf a3
(i) Define proportion. ‘ L (iif)
(iv)  In triangle ABC, Find the DE // BC, mAE =3.2cm, . I (TR . .
value of mAB if: mAD =2.4cm, mEC =4.8¢ .ﬂqfrP%JmABut ABCLE (W)
p .
AN /(
8 > c
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fui)

(vii)
(viii)

(ix)

5.(a)

(b)
6. (a)
(b)

‘Construct a triangle ABCin  mAB =4.2Cm, mBC =3.9Cm, m

Find the valuve ofx: prh‘ I3 ‘ b addx v)

4cm X
3cm

Varify that triangle having g~Cerm h=37-= C=z]13cm o FindE 5 ed S (i)
measure of sides in right angled
triangle: ’ “updfess
Define triangular region. .g.‘f 7 S5 C‘b (vii)
Define incenter. viii

£

petapcass ()
which:

SECTION-lI (8x3=24)
Note: Attempt three questions in all while Q: NEig is
compulsory. i ;

Verify (AB)® = B*A® if: A=|,
Simplify: (=)
Find the value of xy + 2x if: A : j e ad xy +yz+2x (<)
2K IS T 6D ()T

L
e 2k ()

8.(a) Solve the iggguaiiy: ‘ 6< X< S S et (B
(b) Construct w right bisectors of the sides. - _##s,,2 £ us¥ iz tABC 22 (o)
. a - AB = 4cm) (m BC = 4.8cm) (mCA = 3.6 cm)

9.  Prove thatthe ors of the sides of a " ,ﬁ(:ytd;}&bwé@&f’faﬁae 9

triangle are concurrent. ,

OR : L
Prove that parallelograms on equal bases and having the P 5 2119 .4 U3, 4 /fzf.-,e
same (or equal) altitudes are equal in area. . T
ALYV SIN A
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(A o (B) -2 (©)
2. The symbol used for parallel is:
N V] ~ (B) I (C)
3. The lines can intersect only at point.
(A 1 (8) 2 ©
4. The unit of ratio is .
A kg (B) M

5. The area of given figure is "

(A) 9cm’? (B) 12cm?
6. A quadrilateral having each

(A)  Parallelogram Lusursys

[‘f \/OEJ s called

)

oo
~
3~

P
g
-

, mlogn (C)
10. 4x+ 3y ~2isan algebraic .
(A) Expression 4 (B
1. The factors of x2 — 5 4 6 are:
A G+1D,6-6) B (- 2.(x=3) ()
12, HCF of (x2 — 5x + 6) and (x2 —x - 6) is:

Sentence,®  (C)

(A) (x—2) (B) x% -4 (©)
13 x=__isasolution of inequality -2 < x < g

(A) -5 (8) 0 (€
4. Point (-3, -3) lies in quadrant.

A 1 (B) i ©
1. Aray has —__end point/s

(A) o1 (B) 2 ()
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128 L 2 Do 40802 o 2@ e,p s «B«Aoglij/(gﬁdlrﬁ’gg{,

Time: 20 Minutes

e, Dm0, 015 1.1

-1 (D) vz
e Ol wd £ gnp
() L
WESE, 5

T

iR,

(0) 4
o iy
No.one uz7§
ol SEPG
(D) 14cm?
JM\_MO",M,;KJJ;;.{:
(D) Rohmbus o2
gl - [‘f \/05]
Unit w2y " (D) Singular ..t
B LA ORD
V43 (D) V42
logm*= —— _ _
nlogm (D log (mn)

S admmae dﬁl..{mx +3y-2

Equation =iyt (D) Inequality 1. 4
' B AL~ 5x 4 6

F+0.G-1) O @+2),@+3)

bl (%2 = x — 6) #(x* ~ 5% + 6) uskz

x+2 (D) x~-3
e HKer P ~2<zx <§ ehled x=__
3 . (D) Yoo
U B L G (-3,-3)
i D) v
-.&&n*_)lﬂJu:/ﬁCh’bf’
3 o) 4
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Marks : 15
AT AERA Gzl eyt 1)

- /.f:.wa,(fqég//tfg._ﬁuwgu:w;uéu LC
sible answers A, B, C and D to each question are given, Which
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Mathematics (Science Group) (Subjective) ___ (For All Sessions) . & M('f"{ ‘-{j ) ‘f b/
Time: 2:10 hours - (GROUP-II) Marks : 60
SECTION- Q w P23 Jil.o '
2. \Write short answers of any six parts from the foliowing:  (2x6=12) Wi f sz L.:zug‘,‘}! Lbits 2
i. Find negative of matrix A, A= [_—_i g] A O 7V
) 71 ) -2 N (1
i 168 = 3], then fina: B+ e R B PO
iii. Define set of real numbers. e L il
v.  Simplify: Hg1y—1Z -8 , ' N9
v. Express in scientific notation: 000643 dudide v
vi. If e S i
logZ = 0.3010 ; EZ i 0.3010
g = LA log3 = 0.4771
log5 = 0.6990 log5 = 0,6990
Then find 1og30 5
gl dif log307
EVTH6 o ’ 30 BT
vii.  Evaluate P ifx=—4andy =9 8fiy S ey M
vil. fa+b=10and a~-b = 6ih . 2 b g~ b = Gua+h =10/ i
value of (a? + b%) - o . l o B '
ix. Factorize: 8 pgr+qrl -pr g K
2. Write short answeﬁigf any SI ;ﬁs!mm the foiloﬁkié {2x6=12) ‘u.'f ez /# Lzt 44] Sditw 3
i ] ressnonby %t +5x +6,.x* —4x-12 NVt PPV
ii. T Q/r}"g_nj’ Ji
iil. Solve the equation: s i i
iv. Find the value of ‘m’ and ‘¢’ of the line AL y=mx+cs2x - y+3 ehle v
2x=y+3 intheformofy =mx + ¢ : %
} LS m Ll
v. Draw the graph of the following: y=2x+1 Lt S esin Jitn ¥
vi. Define right triangle. ‘ . ' ) J.J o/ Salh siduie i
vii. Find the mid-point between foliowing (8,0),(0,-12 . )
pairs of points - . ’ ( ) _ “ /{!"“ ﬁﬁ?ufg@)ﬁéﬂﬁd}@u Vi
vii. Whatismeantby? A4.S.A % A.S.A Seo e I famiaf il
ix. One angle of a paraliogram is 130°, Find the Ju,g,ud;g,’_m?,;b’13o°.,u__{1s’cwomdjl?..flﬁ Ix

measures of its remaining angles.
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Write short answers of any six parts from the following:  (2x6=12) NIIT L Tud Longedfplitn

Define right-bisector of a line segment, e - - - e S langt L

Verify that 10cm, 6 cn; and 8 cm are the sides S F 2 KEHSY et

of triangle. ot L

Define ratio: QI e

In Isosceles triangle PQR find x ' | o Symx tPQRaL A

andy ", ff o
Define Pythégoras Theorem. LISl

Verify that sides are the length @ =5cm b =12em ¢ =13cm Lok s Ibe Sy S Jad

of Right angled Triangle: oy St

Define area of a figure. WY e

Construct a triangle ABC: mAB = 3.2cm mBC = 4.2cm mCA = 5.2cm LSk ABC L

Define In-centre. ‘ LIPS pdun
SECTION-I (oo

Att mbt any three questions, while Q No. 8 Is 8x3=24 ; . o
cor;pulsory. (Bi3e24) U9, IS 1 f ez lstivf J

Solve by matrix inversion method: 3x-2y= -6 LIS crals P Lude
S5x~2y=-10
Use laws of exponents to simplify: (81)°. 35— (3)*1(243) S el lusd
(93 |

Use log tables to find (8.97)° x (3.95)? dpradesudl 8
the value of: 1537

Ifp = 2 + 3 then find p? — = /A P == In p =243/
Factorize by factor theorem: x3—6x* + 3x + 10 LA snSE
Simplify the lowest form: x*~8x 2x-1 x+3 S S Mool

2x2+5x-3  x2+2x+4  x?-2x

Find the solution set of 5(x—3) _ . «x S oS bt F
given equation:: —x=1-3

Construct the AABCand draw mAB = 42cm St Uil L ABC &5
the bisectors of their angles: mBC=6cm - : u:?{

’ mCA=52cm
Prove that any point equidistant from the end In e BNy
points of a line segment is on the right bisector of it~ LByt L Jébﬂwu
OR L
Prove that triangles on the same base and of the LA L nh g S L2 RS St

same (i.e equal) altitude are equal in area. Sunsal 3munis
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(a).5

(b)

(a).6

(b)
{a).7
(b)

(a).8

(b)



